NOTES:

. ALL DIMENSTONS +/- |.0OMM UNLESS NOTED
2. DIMENSIONS SHOW ARE FOR ALL TOUCH TECHNOLOGIES UNLESS NOTED

TITLE: ETI939L/ETTI93TL-XCWA-X

BRACKET FINISH X4 : Black Electrodeposition Coating (for ETI937L)

RRACKET FINISH X4 - SUS 304 NATURAL COLOR (FOR ET1939L)
- 415 - - = 50.0 FOR
/// “ACCUTOUCH
CINTELL I TOUCH
3 5 3 N I “SURFACE CAPACITIVE
\ | [
lo [V i 1] y
- 376 -
(ACTIVE AREA)
lo ol
®
30 308
1 (ACTIVE AREA) ! 143 (CENTERING LIP) i
° 9
3
)
I@/\ ' )\@ ' //:ﬂw
[ | \ - )
Ne © ® e ¥ |

BEZEL WITH WIPER BLADE SEAL

DIMENS TONS ARE

IN MILLIMETERS/INCHES

SEE DETAIL A

_1\:
-| ||||\ \
.O>%'

DETAIL A
(CENTERING LIP)
SCALE 2.000

0SD CONTROLS

00000000 }mquJb OO0OOOOOOOOOOOO
o\ 0000000 . ©o0 00 o 0000000000000 /¢
0\, 000000 = = 000000000000 /e
® 00 O0®
000 00O
©00 OO0 ®
®00| © 000
®00 OO0 ®
000 00O
ﬂ ©
© ©
o e o o.
00
© © oal
00
000
oo ® o B 00
000 © © L ® |
00O © 7o)
© O ©
000 5 )
00O © © s
00O © o ’
— - TL_TWm —
) = } )
o T J o
ol JI—IL ﬂ I—IT |o
SERITAL / USB TOUCH
REMOTE OSD
1 2VDC POWER (REMOTE P/N E622897

VGA

ORDERED SEPARATELY)

oG e

®

E 66800666
)
I v l

—

384
(CENTERING LIP)

ETyco
Electronics

MS500786

DATE: 10,FEB, 10
SHEET | OF 8 et




SECURE TOUCH OPTION (FOR ET1939L ONLY)

TITLE

ETT939L/ETI937TL-XCWA-X

u

) U

— ]
g )
0 6060608 @ 66600066

DIMENS TONS ARE

IN MILLIMETERS/INCHES

=5 | 4 =

SHEET 2 OF 8

EaMm
Electronics

MS500786

DATE: 10,FEB, 10

REV: G




TITLECETTO39L/ETIO3 /L -XCWA-X

IR_OPTION (FOR ET1939L ONLY)

LI loJ LI LI
e@eo :ivmrir| O] ee6080066

ETyco
Electronics

MS500786

DIMENSIONS ARE IN MILLIMETERS/INCHES SHEET 3 OF 8 DATE: 10.FEB, 10

REV: G




TITLE

ETT939L/ETI937TL-XCWA-X

©

©

60 @ e o 00 eEDe

coo0006 |[0] eeedoees

DIMENS TONS ARE

IN MILLIMETERS/INCHES

APR OPTION

SHEET 4 OF 8

§§“m°
Electronics

MS500786

DATE: 10,FEB, 10

REV: G




TILLEETI939L/ETI93 7L -XCWA-X

LVDS OPTION (FOR ET1939L ONLY)

(OJD)
00O
00O
00O
00O
00O
00O

®O0

(O] |

OOO:
O O Ofj

00 o}
000
000
000
000
00O
000
000
000
000

®0O0
00O
0O
®O0O0
@ OO0
qO O O

SEE USER GUIDE
FOR LVDS CONNECTION DETATILS

DIMENSTONS ARE IN MILLIMETERS/INCHES

SHEET o5 OF 8

ETyco
Electronics

MS500786

DATE: 10,FEB, 10

REV: G




170

00

RECOMMENDED CUSTOMER
PANEL CUT-OUT st note #)

MOUNTING BRACKET ADJUSTMENT RANGE

3.0
(SEE NOTE E)

) =
\©),

A4

m o

g

[N

NOTE D)

DIMENS TONS ARE

IN MILLIMETERS/INCHES

12570
+ + ‘
\ !
R5.00 X4
+
309.00 +1.0/-0.0
353.
- 385.00 +1.0/-0.0
+
!
+ + !

NOTE A
CUSTOMER PANEL MATERIAL:
. WOOD: @ 4.5 HOLES THRU
FOR M4 SCREWS W/NUTS,
OR,NO THRU HOLES,SCREWS
FOR WOOD ¢ 4mm
2. SHEET METAL:CONCEALED HEAD
THREADED STUDS M4 W/NUTS.
NOTE B
MONITOR INCLUDES 2 BRACKETS.
ADDITIONAL BRACKETS AVAILABLE,
P/N ET14T7211
NOTE C
70 33.3mm=SECURE TOUCH
33.2mmZ IR
30.2mm=APR
NOTE D
|15.9mm=SECURE TOUCH
|15.8mm= IR
| 2. 5mm=APR
NOTE F
| . 6mm=SECURE TOUCH
| . ITmm= IR
5.0mm=APR

TITLE

ETT939L/ETI937TL-XCWA-X

REAR MOUNT WITH BRACKETS,

HORIZONTAL AND VERTICAL

(SEE NOTE B)

BRACKETS IN HORIZONTAL POSITIONS

C000000O0 ©CO00OO0O0OO
0000000 00000000
000000 00000000
364
— 436

BRACKETS IN
VERTICAL POSITIONS

VESA MOUNT
o SIDE MOUNT,
' M4 THREAD
5 00— /MAX,SCREW DEPTH=Tmm VERTICAL
' X8
00000000 l “lﬂll<l>sa.® . QWQQWQOQQQOQQQOQ
NI = TR %
& 00 / (OO N
(ONON) O0O0
0O OO0®
® 00 © o000
@00 OO0 ®
10 O O O O OR
A
©
° Q\ﬂ /@ I
o e o oS
® o 83'75‘0()'00 0 1472 .00
000 © o 0 83 |
0O ©
Q0O © © _O@CL '
(ONONGO) © © ©
098 ° — e ° ‘ v
| @ o | |
— F_HT ijim—=i —
[e] L:-J (o]
121.4
o E t. .J o ( 100.4
= : = |, T
— _= M __ — ' u./ '
31,9 -
(SEE NOTE C
SIDE MOUNT,
HORIZONTAL
— A 31.9
60800668 @ @ © 0000 6 ‘(SEE NOTE C)
E — "I’I]
A © i i
~———————— [ 47 () ————=
ETyco
Electronics
MS500786
SHEET © OF & DATE: 10,FEB,10
REV: G




TITLE: ETI939L/ETTI93TL-XCWA-X

FRONT MOUNT OPTION
BLACK ANODIZE FINISH k9.3 — 1 50 P/N E163604

i (ORDERED SEPARATELY,CUSTOMER ASSEMBLED)
e \ S \ o

387
Lr\\\FRONT MOUNT ASSY
FT19390L MONITOR
\ , ) FRONT MOUNT BRACKETS(X4)
= (INCLUDED WITH FRONT MOUNT ASSY) CUSTOMER PANEL
N ] Y ! I FRONT MOUNT BRACKETS ACCOMMODAT ION
MAX | 4mm MATERIAL THICKNESS
- 45/ -—
- 434 +1.0/-0.0 — 3.0 NOTE:
CUSTOMER PANEL CUT-OUTA RIS MAX X8 . IF CUSTOMER PANEL MATERIAL IS WOOD:
AND MOUNTING HOLES ////X4 @ 4. 5mm HOLES THRU FOR M4 SCREWS,
/ OR NO THRU HOLES,SCREWS FOR WOOD @ 4mm.
I | X\ ? * I,// / 2. |F CUSTOMER PANEL MATERIAL 1S SHEET METAL:
= - I CONCEALED HEAD THREADED STUDS M4 WITH NUTS
1 (o ) o
e ™\ ,, g
00000000 _ W > SEL w _ Q0000000000000 <\ g
® N\ o00000 B 200000000000 /48 ‘: §
800 ooo \‘
I ¢ & 000 500
00| © Q0O
@200 oO0O®
362 +1.0/-0.0 G Yo oo oooff 9
392.6 o 1) i o)
© ©
150.00 404 o e o o3
o0
-} © 00
00O ﬂ o0
e o |[o ° X
000
! & L 000 ° o 2 © - oo © _j
o {000 ° ® A © L
0 [;,J { o m} 0
o E l J o
o| =X H == |o
CI_ _!7 ' — @) ©) —
' \ J
/ ¢ T ! lo_ 2
=
Tyco
~— [ 50.00 —J 176 Electronics
- 464 6 -
MS500786
DIMENSITONS ARE IN MILLIMETERS/ INCHES SHEET 7 OF & |DATE:. 10,FEB, 10
REV: G




TITLE

ETT939L/ETI937TL-XCWA-X

RACK_MOUNT OPTION

P/N E579652

(ORDERED SEPARATELY,CUSTOMER ASSEMBLED)

— 483 .00 -
BLACK ANODI/ZE FINISH
| ' i
S
I © @)
A © @)
266.00
399,
146 .00
! o o
! O @)
7o)
l I !
- 465 .00 -

|

|_I.I

DIMENSTONS ARE IN MILLIMETERS/INCHES

—r

= ® =
&)
o~ IOl eeevoe666

00

SHEET 8 OF 38

ETyco
Electronics

MS500786

DATE: 10,FEB, 10

REV: G




